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QUESTION 1

DRAG DROP 

Match the storage technology to the storage type. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

A customer is building out their rack of servers and storage systems. They need a high-performance network with a
simple centralized management capability and deep buffer support for iSCSI. They expect high growth in their
virtualization 
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environment. 

Which solution will best meet the customer\\'s needs? 

A. Aruba 

B. Altoline 

C. Arista 

D. FlexFabric 

Correct Answer: D 

 

QUESTION 3

A customer needs a solution that supports rapid provisioning changes on physical bare-metal servers and on a
virtualization hypervisor. They are considering migrating to a new solution that supports software-defined storage.
Which HPE compute platform should the customer implement? 

A. ProLiant DL 

B. BladeSystem 

C. Synergy 

D. SimpliVity 

Correct Answer: C 

 

QUESTION 4

You are creating an internal array on an HPE ProLiant server. What can you do to maximize the storage space
efficiency? 

A. Populate drive bays with the smallest-capacity drive first. 

B. Install drives that have the same capacity. 

C. Match the device numbers for the drives with their bay numbers. 

D. Populate drive bays with the largest-capacity drive first. 

Correct Answer: B 

 

QUESTION 5

A company plans to purchase new HPE servers. The company needs to maximize local storage capacity within the
servers. Which HPE servers should the company install? 

A. ProLiant BL460c Gen10 
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B. ProLiant DL380 Gen10 

C. ProLiant ML110 Gen 9 

D. ProLiant DL360 Gen 9 

Correct Answer: B 
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